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QUESTION 1

Given:

public class TestFinal |
final int 1 = 5;
statiec vaoid modify (TestFinal test) {
test.l = 5%;

}

public static void main (String [] args) {
final TestFinal tf = new TestFinal (}:
modify (tf);
Syslem.oul.prinllo (LL.1);

}

What is the result?

A. A compilation error occurs in the modify method.
B. 99

C.5

D. A compilation error occurs in the main method.

Correct Answer: D

QUESTION 2

Given the code fragment:

1. class App {
2.
i }

Which two code fragments are valid at line 2?
A. for (int count = O; count
System.out.print(count);

}

B. package p1;
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C. import java.util.*; public void display() { List nums = new ArrayList (); }
D. { private int num; }
E. private String name = "John"; public void display() { System.out.print(hame); }

Correct Answer: BE

QUESTION 3

14 - public class calc {

15 - public static woid main (String[] args} -

16 String name = “Fred";

17 System.out.printlnC "Hello® + //Saying hello
18 name}. S/ to Fred

19 System.out.println{"Good /* and " +

28 "greeting */ dayl");

21 System.out /A welcome message

22 println{"Welcome " + nane);
23 System.out. println{”Goodbve /* Farewell - name”
24 1

25 | ¥

JOK 11.0.4 W

CommandLine Arguments

lesult
:PU Time: 0.19 sec(s), Memory: 31928 kilobyte(s)

HelloFred
Good /* and grecting */ day!

Welcome Fred
Goodbye /* Farewell + name

Identify two class variables.
A. private static int numberOfSquares = 20;
B. public static int counter = 0O;

C. private Measure cm;
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D. public int size = 10;
E. int scale = 35;
Correct Answer: AB

Reference: https://www.tutorialspoint.com/What-are-class-variables-instance-variables-and-local-variables-in-Java

QUESTION 4
Given the code fragment:
boolean checkOut = true:;

int days = 0;
while (checkOut) {

days++;
if {(days > 3) {
checkout = Zalse:;

}
System.out.print (days) ;

What is the result?

A 2

B. 4

C. The program executes an infinite number of times.
D.3

Correct Answer: B

QUESTION 5
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15 - public class Test {

16~ public static weoid main (5tring[] args) {
17 List<String> names = new ArraylList<>();
18 names.add (" Joel");

19 names.add "Paul™);

28 names. remove (@);

Z1 names. remove (@7;

Z7 System.out.println (names.isEmpty());
23 names.add ("Joel”);

24 names.add "Paul™);

Z5 names. clear();

26 System,out.println (names.isEmpty (J);
27 1

Z8

29 %

JDK 11.0.4 “

CommandLine Arguments

Result
CPU Time: 0.13 sec(s), Memory: 30580 kilobyte(s)

true

true

Given the code fragment:

String[] flowers = [“lotus”, “lily”, “rose”, “jasmine”);
for (String c : flowers) {
if (c.length() < 4) {

continue;

}

System.out.print(c + ™ “);

if (ec.length() == 4) {
brealk;

}

What is the result?
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A. lotus jasmine

B. lotus

C. A compilation error occurs.
D. lotus lily

Correct Answer: D

15~ public class Test {

16 ~ public stotic woid main (String[] args} {
17 String[] flowers = {"lotus”, "lily", "rose", "Jasmine"};
18 - for (5tring c© @ flowers) {
19~ if {e.length (3 < 4) {
28 continue;
21 }
Fifs System.out.printic + " ");
23~ if (c.length() = 4) {
24 break;
it }
26 ¥
27 ¥
28
29 }
JDK 11.0.4 ' In

CommandLine Arguments

Result
CPU Time: 0.20 sec(s), Mamory: 34316 kilobyte(s)

lotus lily
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